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e Problem

e Cause
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We have a problem

340,000 students take
introductory physics

each year

AIP Report R-151.39 (2003)



We have a problem

about 1% of these get
a bachelor’s degree

in physics

AIP Report R-151.39 (2003)



We have a problem

Of the 4,100 students with

a bachelor’s degree
in physics... &

AIP Report R-151.39 (2003)



We have a problem

about 28% go on to get a

Ph.D. in physics... §

AIP Report R-151.39 (2003)



We have a problem

That’s one out of every
300 students in our
introductory

courses!

AIP Report R-151.39 (2003)



We have a problem

What about the
other 299...?

AIP Report R-151.39 (2003)



We have a problem

What do we know
about these

students?

AIP Report R-151.39 (2003)



We have a problem

Some disturbing symptons:

e frustration
e lack of understanding

e lack of basic knowledge






We have a problem

They know the jargon:

e circular motion
e barometric pressure
e light radius

e something to the power times ten to the something



We have a problem

They are aware of their lack of knowledge:

e | graduated from college, but | didn’t study astronomy

* |It's been a while since I've had physics



We have a problem

They are aware of their lack of knowledge:

e | graduated from college, but | didn’t study astronomy

* |It's been a while since I've had physics

...and they don’t care!



We have a problem

Should we worry?



We have a problem

We'd better!






We have a problem

“l took four years of science
and four years of math...

A waste of my time,
a waste of the teacher’s time,
and a waste of space...

You know, | took physics.

For what?"







Why do we have this problem?
-- P—




Why do we have this problem?

lectures focus on delivery of information



Why do we have this problem?

education is not just information transfer
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Why do we have this problem?

education is not just information transfer
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Why do we have this problem?
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Why do we have this problem?
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Why do we have this problem?

only one quarter of maximum gain realized
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Why do we have this problem?

not transfer but assimilation of information is key



Why do we have this problem?

conventional problems reinforce bad study habits




Why do we have this problem?

conventional problems reinforce bad study habits

Calculate:
(a) current in 2-Q resistor
(b) potential difference

between P and Q




Why do we have this problem?

are the basic principles understood?




Why do we have this problem?

are the basic principles understood?

When S is closed, what happens to:
(a) intensities of A and B?

(b) intensity of C?

(c) current through battery?

(d) potential difference across

A, B, and C?

(e) the total power dissipated?



Why do we have this problem?
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Why do we have this problem?
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Why do we have this problem?
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Why do we have this problem?
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Peer Instruction

Give students more responsibility for gathering information...



Peer Instruction

Give students more responsibility for gathering information...
so we can better help them assimilate it.



Peer Instruction

,,,,,,

520UrCe°

Main features:

e pre-class reading

e in-class: depth, not ‘coveraggy

e ConcepTests
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Peer Instruction

is it any good?



Peer Instruction

first year of implementing PI
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Peer Instruction

first year of implementing PI
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Peer Instruction

first year of implementing PI
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Peer Instruction
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Peer Instruction
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Peer Instruction

what about problem solving?



Peer Instruction
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Peer Instruction

So better understanding leads to better
problem solving!



Peer Instruction

So better understanding leads to better
problem solving!

(but “good” problem solving doesn’t always
indicate understanding!)






Conclusion

Let’s not forget the base

of the pyramid




Conclusion

Let’s given them something

of value!
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Peer Instruction:
discussion and ‘brains-on’ demonstration
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Some options:

e Let’s try it!

e Feedback methods

e Research: providing the basis for change
e Problems with problems

e Resources

e Barriers to reform



Let’s try it!

Consider a rectangular metal plate

with a circular hole in it. Q




Let’s try it!

Consider a rectangular metal plate

with a circular hole in it. Q

When the plate is uniformly heated,
the diameter of the hole

1. increases.
2. stays the same.
3. decreases.



Let’s try it!

The distance between the atoms increases uniformly



Let’s try it!

A boat carrying a large boulder is

floating on a small pond. The boulder Fﬂg ?
is thrown overboard and sinks to the

bottom of the pond.




Let’s try it!

A boat carrying a large boulder is

floating on a small pond. The boulder Fag ?
Is thrown overboard and sinks to the

bottom of the pond.

After the boulder sinks to the bottom of the pond, the level of
the water in the pond is

1. higher than

2. the same as
3. lower than

it was when the boulder was in the boat.



Let’s try it!

When we hold a page of printed text in front of a mirror, the
text on the image in the mirror runs from right to left:

2omiT XhioY woall odT



Let’s try it!

When we hold a page of printed text in front of a mirror, the
text on the image in the mirror runs from right to left:

2omiT oY woall odT

Why is it that right and left are interchanged and not top and
bottom? Because:

1. the mirror is oriented vertically.

2. we have two eyes in the horizontal plane.

3. the Earth’s gravitation is directed downward.

4. a habit we have when looking at images in a mirror.
5. It only appears to run from left to right.



Let’s try it!

Consider an object that floats in ) 9 o
water, but sinks in oil. When the
object floats in water, half of it is g

submerged. O




Let’s try it!

Consider an object that floats in S TN .
water, but sinks in oil. When the

object floats in water, half of it is g
submerged. e

If we slowly pour the oil on top of the water so it completely
covers the object, the object

1. moves up.
2. stays in the same place.

3. moves down.




Feedback methods

Show of hands:

easy, but only moderately effective



Feedback methods

Flashcards: simple and effective

A B
CD




Feedback methods

Flashcards: simple and effective

Meltzer and Mannivanan, South Eastern Louisiana University



Feedback methods

Infrared transmitters (PRS): easy collection of data




Feedback methods

Infrared transmitters (PRS): easy collection of data

Kristy Beauvais, Concord Carlisle High School



Feedback methods

near future: wireless classro
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Research: providing the basis for change

Evaluate assessment by comparing

student performance on various kinds of problems



Research: providing the basis for change
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Research: providing the basis for change

ConcepTest data

after discussion
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Research: providing the basis for change
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Research: providing the basis for change
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Research: providing the basis for change
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Research: providing the basis for change

who benefits from the ConcepTests?
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Research: providing the basis for change

who benefits from the ConcepTests?
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Research: providing the basis for change

even the best students are challenged

100

(@)
o
|

(@)
o

I
o

individual CT score (%)
)®)
o

o

50 60 70 80 90 100
final grade (%)



Research: providing the basis for change

even the best students are challenged
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Problems with problems

On a Saturday afternoon, you pull into a parking lot with unme-
tered spaces near a shopping area. You circle around, but there
are no empty spots. You decide to wait at one end of the lot,
where you can see (and command) about 20 spaces.



Problems with problems

On a Saturday afternoon, you pull into a parking lot with unme-
tered spaces near a shopping area. You circle around, but there
are no empty spots. You decide to wait at one end of the lot,
where you can see (and command) about 20 spaces.

How long do you have to wait before someone frees up a
space?



Problems with problems

On a Saturday afternoon, you pull into a parking lot with unme-
tered spaces near a shopping area. You circle around, but there
are no empty spots. You decide to wait at one end of the lot,
where you can see (and command) about 20 spaces.

How long do you have to wait before someone frees up a
space?

Requires:
Assumptions

Developing a model
Applying that model



Problems with problems

On a Saturday afternoon, you pull into a parking lot with unme-
tered spaces near a shopping area. You circle around, but there
are no empty spots. You decide to wait at one end of the lot,
where you can see (and command) about 20 spaces. On average
people shop for 2 hours.

How long do you have to wait before someone frees up a
space?
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On a Saturday afternoon, you pull into a parking lot with unme-
tered spaces near a shopping area. You circle around, but there
are no empty spots. You decide to wait at one end of the lot,
where you can see (and command) about 20 spaces. On average
people shop for 2 hours.

How long do you have to wait before someone frees up a
space?

Requires:

Developing a model
Applying that model



Problems with problems

On a Saturday afternoon, you pull into a parking lot with unme-
tered spaces near a shopping area. You circle around, but there
are no empty spots. You decide to wait at one end of the lot,
where you can see (and command) about 20 spaces. On average
people shop for 2 hours.

Assuming people leave at reqularly-spaced intervals, how long
do you have to wait before someone frees up a space?



Problems with problems

On a Saturday afternoon, you pull into a parking lot with unme-
tered spaces near a shopping area. You circle around, but there
are no empty spots. You decide to wait at one end of the lot,
where you can see (and command) about 20 spaces. On average
people shop for 2 hours.

Assuming people leave at reqularly-spaced intervals, how long
do you have to wait before someone frees up a space?

Requires:

Applying a (new) model



Problems with problems

On a Saturday afternoon, you pull into a parking lot with unme-
tered spaces near a shopping area, where people are know to
shop, on average, for 2 hours. You circle around, but there are
no empty spots. You decide to wait at one end of the lot, where
you can see (and command) about 20 spaces.

How long do you have to wait before someone frees up a
space?



Problems with problems

On a Saturday afternoon, you pull into a parking lot with unme-
tered spaces near a shopping area, where people are know to
shop, on average, for 2 hours. You circle around, but there are
no empty spots. You decide to wait at one end of the lot, where
you can see (and command) about 20 spaces.

How long do you have to wait before someone frees up a
space?

f i thqp

wait

spaces



Problems with problems

On a Saturday afternoon, you pull into a parking lot with unme-
tered spaces near a shopping area, where people are know to
shop, on average, for 2 hours. You circle around, but there are
no empty spots. You decide to wait at one end of the lot, where
you can see (and command) about 20 spaces.

How long do you have to wait before someone frees up a
space?

Requires:

f i thqp

Using a calculator wait

spaces




Resources

Books with ConcepTests:

e Physics (Prentice Hall)
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Resources

Books with ConcepTests:
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e Chemistry (Prentice Hall) :
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Resources
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e Physics (Prentice Hall) .

e Chemistry (Prentice Hall)

e Astronomy (Prentice Hall)

e Calculus (Wiley)



Resources

Information on Just-in-Time-Teaching:

e Prentice Hall book

e http://www.jitt.org



Resources

Videos:

From Ques_ﬁons fo Con cepfts

lntrccﬁve Teaching in Physics

e Thinking together

* From questions to concepts

{ Availabia in v and Dvp
. N8 fom Anker Publishing
e ) ww.unkmoub.cum
PO Box 2247

Witliston vy 054955747
fh 877-?I?~3ﬁlﬂ
Fax 302-864-?2?0

http://www.ankerpub.com



Resources

Course management:

http://deas.harvard.edu/ilt

806

4 b (L] I_L_t ﬂht_tp:wa.con-:eprest.org ~Qr
£} LT Login local ILT: Lecture ILT: Reading

ILT: Manage

E-MAIL
Manage emall connection
Email (3)

COMING UP
§/2 Assignment 1
TOOLS

Add from database
Add 1w GT
Remove selected
Move selocted
Copy selected
Reorder questions
Ediit header
Genarate shde set
Upload PRS data
Interactive classroom
Expand al
Cotapse al

Export data
Stwdent view

QUICK LINKS
Standardizad tasts
Studonts

Sections

Select Section 9

framrses > Physics 1h > Lachuss > ¢ < (hanging magnatic fisids 1| AR > >

e it [ o Physics > introductory Eleciromagnetism > Magnetism > CT: 3691
edt @done t§ P al. Oclober 25, 2001 00:56:08 am

1. A permanent magnet is dropped through a long aluminum tube, as shown. As the magnet drops,

@lectric currents are nduced around the tube. Compared to a fréely-faling magnét, thé magnét through the

tube drops

=
@)

» e skowly,

. exactly the same way.
. faster.

MNeed mare information.

=

Hint: consider the effects ol nduced curments through strips ahaad of and bahind the dropped magnet.

Answer: 1. In aloop of the aluminum tube jusi below the magnet, the flux is increasing as the magnet
gels nearar. This induces a counterclockwise current producing an opposing magnetic field which repals
the magnet. In a loop above the magnet, the flux is decreasing, 30 a clockwise current is induced,
producng a magnetc fiekd in ihe same drection as the magners field, thus atiracting the magnet upward.
So the net effect is to slow the magnet down.

Copynight © 2000. Eric Mazur
Unpublshed copynghted material
cdit P ok '~ Physice > introductory Electromagnatiemn > Magnetiem > CT: 3758
" Bdome 4 P al. Ociober 12, 2001 05:55:06 pm

2. Consider the armangement shown below. Conducting rod AB is lying on a U-shaped conductor, making
goed alectrical contact. The arrangement is placed in a magnetic field (inlo page).




Barriers to reform

Challenges:

e skepticism
e growing pains

e limited circle of influence



Barriers to reform

Two things to watch out for



Barriers to reform

After changing, things might get worse before they get better!

performance

time



Barriers to reform

Better understanding leads to more — not fewer — questions!

(must recognize confusion as step towards understanding)



Barriers to reform

Things to do:

e take data
e motivate students

e be prepared for initial adjustments
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